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POINT LOAD IN THE MIDDLE OF SPAN

Technical data for channel profiles MT (max. span width/deflection - point Load in the middle of span)
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load F [kN] L f L f L f L f L f L f L f L f L f L f L f L f L f
0,25 83 04 157 78 260 129 152 7.6 294 147 317 158 600 294 339 169 600 299 469 234 600 116 600 83 600 3.6
0,50 42 01 93 32 188 93 109 55 215 107 234 117 489 244 254 126 482 241 368 184 600 177 600 119 600 47
0,75 28 00 62 14 155 77 90 45 178 89 194 96 418 209 212 106 411 205 311 155 600 238 600 154 600 58
1,00 21 00 47 08 13 66 75 35 154 7.6 169 84 871 185 185 93 363 181 274 136 600 299 600 190 600 6.9
1,25 7 00 37 05 118 50 60 23 138 62 151 7.6 336 168 167 83 329 164 247 123 551 275 600 225 600 8.0
1,50 14 00 31 04 94 34 50 16 112 43 138 69 309 154 152 7.6 802 150 227 113 512 256 600 261 600 9.1
1,75 12 00 27 03 8 25 43 12 9 32 122 55 287 144 141 70 281 140 211 105 479 239 600 296 600  10.2
2,00 10 00 238 02 71 19 38 09 8 24 107 42 270 135 132 65 264 132 198 99 452 226 572 286 600 113
225 9 00 21 02 63 15 3 07 75 19 95 33 248 116 117 51 249 124 187 93 4290 214 545 272 600 124
2,50 8 00 19 01 5 12 8 06 67 16 8 27 224 95 106 42 237 118 177 88 409 204 522 260 600 135
2,75 8 00 17 01 52 10 27 05 61 13 78 22 204 79 9 35 227 113 169 84 391 195 501 250 600 146
3,00 7 00 16 01 47 09 25 04 5 11 71 19 18 67 8 29 208 96 162 81 376 188 482 241 600 157
3,50 6 00 13 01 41 06 22 03 48 08 61 14 161 49 76 21 179 71 150 7.5 349 174 450 225 600  17.9
4,00 5 00 12 01 3 05 19 02 4 06 54 11 141 38 66 16 157 54 141 70 328 163 424 212 600  20.
450 5 00 10 00 3 04 17 02 37 05 48 08 126 30 59 13 140 43 128 59 310 155 401 200 600 223
5,00 4 00 9 00 28 03 15 01 34 04 43 07 113 24 53 11 126 35 115 48 295 147 382 190 600 245
6,00 3 00 8 00 24 02 13 01 28 03 3 05 9 17 44 07 105 24 9 33 270 135 350 175 600  28.9
7,00 3 00 7 00 20 02 11 01 24 02 3 03 8 12 3 05 9 18 8 24 238 100 825 162 571 285
8,00 3 00 6 00 18 01 9 01 21 02 27 03 71 10 3 04 79 14 72 19 204 77 305 152 537 268

Design resistance

Selection example:

* 1,0 kN (= 100 kg) should be carried by a channel with a channel span width L = 100cm (single span sinply supported).
Solution:

« Select the line with the load, F = 1,0 kN.

* The channels MT-20, MT-40 T up to MT-100 can be used because the permissible span width (table value) is larger or equal to the required span
width of L = 100cm.

Load tables are based on stress and deflection calculations, lateral torsional buckling is not considered.





